EARAZROREIERT — 2 N—XBISY —F 201238218 (k) 26E%&HE3H

ol S 34 4 YIR3IX ‘ (X4l W ‘ (Emm]  — | & () 14000 TRE
[AE£] 1% :210,000” ~ 2%&:42,000”  3%&:21,000M”  4%&:0MH / 5&:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R . P . -1- _ 3
1lglg| 7194 rmoamy L] 57?%?&% 1.(3_2).4 1-1-1-1 | 40.7 1 ;1_453; égﬁ; (BER)
R:TZv K= B:A4JF7 37 Hro—tr
— SiEA .39, o . — BEOXRK (BHE)
2 3| P71 h1FY A (11 312/295) 6503 |04 ? (fg) EHICE
WV ZRE—3IZ8— B:I I AR EdHhTT— L
- HES : PP - AHY (BEE)
slzl 7| nFrvE it 3 [ohesed 1.(312>.8 2-2-2-2 | 41.0 3 ;1;2) E*E;_
L:T7IhtEy b BiYIEF-TAR RO%%
N PR : 87— — IR (%HA)
4 6l ATUTE—L i 3 L 1.(364).0 8-8-7-6 | 40.8 5 (4_021) e A
R:T7RYA4¥ K> B:ATUD v &4 TREN S
N FE— :34. ~3-4- . — ROHEE (BHE)
511 |TFHNFA i3 7520 1(33/%1 §344 42,0 4 (4+216) N
Rip—tL4Z B:T7prY—KLX BEXZY K
- NPT BRR— :34. -4-5- . - FLEEE (BHE
6 NEOV RS H 3 o) 1(351)7 4-4-5-5 | 41.7 8 (4+519) km%gq—
R:zZa—A>75>K B:Zv/<v 7 — 45
. REE_ : —6-6- — BHERSE (BHE)
7155 | 7vFr> 3| 28 (12315/2% 5-6-6-8 | 42.0 7 <4+534) Bl
b=t 82X B:/=TNT4T75 HRSME KEXTF—TIL
. KA . _7_g — Brii—5 (84E)
glglg|T—=2tEDT i 3 e (12.315/.27) 7-7-8-7 | 42.5 6 (4_277) =l
Z:Urh—> Biwvendar E- "3
. . 3 | R 1:36. -9-0- 42. — 41 BriE—% (Z4E)
9 4| TARUT=> * 54.0 (336)3 $o9 8 s (+49) (&) AT
LA 2T B:IXEAT Y Il #Eth
® I—F—@EBIERL
15l=2F= 8,7,1,2,5,3,9,6,4
23=7F= 8,7,1,2,3,5,9,6,4
T =35r= 8,7,3,1,2,5,6,9,4
41—F— 8,7,3,1,2,6,9,5,4
[ RN
B 8 1209 AP 3-8 150 3EE 3-7-8 320M
# B 8 1004 % B 8-3 220 3EE 8-3-7 710M
3 1004 B = 3-8 200M
7 1309 B HE (=) 230M

ABICOVWTRDTEEERROODE. TR LIV,



